Math 2568, Quiz #1, Fall 2014 Name Kg Y

Instructions: Show all work. Answer each question as completely as possible. Use exact values (yes,
that means fractionst).

1. Write the following system of equations as an augmented matrix.
Xy + 2x; — 5x3 +4x4 = 16
5xy — 7Xp + X3 — 2X4 = 20
3% + X, — 4x3 + DXy = -17
2x1 = 3x2 3 ZX3 + 6X4, = 24
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2. Row reduce the matrix [; i _2] Determine the values of h that will make the system
consistent.
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3, Suppose that the matrix A= 8 (1) ‘(L) "61 10 8 is the coefficient matrix of a
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homogeneous system that is already partially reduced. Finish reducing the system so that it is in
row-reduced echelon form.
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